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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORO09T-EconoMmiIcs (CC9)
INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I TS TN
and adhere to the word limit as practicable. s R
I. Answer any five questions from the following: 2x5=10
fafeiie -t #fipfs elvas Teg wiss

(a) Distinguish between fixed and flexible accelerator.
1 o ¢ 2 TNe T56-93 g AL 9
(b) What is the Net Present Value (NPV) criterion of investment?
fRfvcaieR 6 IS e = & ¢
(c) What is secular stagnation?
wfifen Rt e T 6 9
(d) What happens to velocity of money circulation with rise in rate of interest?
MR RIER Jian [FSIR ToInE TV [RoNS 2doife 3 9
(e¢) What is Fisher Effect?
P el & 9
() What do you mean by consumption puzzle?
olee ikl FeTce & @i 9
(g) What is Solow residual?
Solow-43 SRf*E F57ce F @RI ¢
(h) What is inventory investment?

epe-RfCe I 30T 9

2. Answer any four questions from the following: 5x4 =20
fasfie - e elvss Teg nies

(a) According to the Growth Accounting Approach, what are the sources of
economic growth?

Wi s oo SPE Sl Sfem Teorefe & & 9
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4061

Show that for binding borrowing constraint, consumption depends only on
current income.

YT SR A (SR NG (6] IO SNEE Sod fToa et —p1 Sl

How Tobin’s q is related to Neo-classical theory of investment?

SRR e Tt srea [ $oed e 7y 9

How an income tax on corporate profit affects investment decision?
Affere k=R e Tor 31 [Fel RfTaies e geiie 3@ ¢

What is steady state? Derive the steady state condition in the Solow growth
model.

SR SIFAN T 09 F @R 2 Solow-93 iﬁ?ﬂ%W oM SR SR
*S (9 A |

Using Regressive expectation model show that the individual demand for money
is a ‘step function’.

eyt erepl wre S bifgnl @A @ G A-SeES 9 I T

Answer any two questions from the following:
fasfeie - 7 evs Teq wies

What is meant by ‘risk aversion’? Discuss how risk averting individual would
determine optimum portfolio diversification between money and bond. Derive the
demand for money curve in this context.

A ~IfFe e & @RI = 92 I e e 5l ¢ 0o @ FeiE o
(G Fotnd S 3B T 9 @B 2P Wl bifem @i @@ S

Show that the Harrod-Domar equilibrium condition implies a ‘knife-edge
equilibrium’ for a free enterprise economy.

& TWIeR SRR FIRe-(OMIE 2Biie Sy =t o SN s
SRECS WO FE —10 I

What is the limitation of Keynesian Absolute Income Hypothesis? How does the
Life Cycle Hypothesis of consumption propose to overcome that?

(F2H-G3 HAN O g ANAFI & 9 @3 FAws! 17 T (FCG (SR GIAbes
©Cgd BRI 2

What do you mean by Golden Rule level of capital accumulation in the Solow
growth model? Derive the condition that describe the Golden Rule.

Solow T WG Y @R Féffe fww o0 & @it ¢ @2 fwfo e
fofg s 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORO08T-EcoNnoMICs (CCS8)

INTERMEDIATE MICROECONOMICS-II
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. aNfeE T F0Z T YMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R

1. Answer any five questions from the following: 2x5=10

T @-CFieat #fpfe elvex Tex wiss
(a) What is dominant strategy?

LSIHN (FHIeT FICEF T 2
(b) Define Nash equilibrium.
T SIS FResl e |
(¢) What is Cartel?
FICoeT = 9
(d) Why demand for input is called ‘derived demand’?
Toe BIfRAICS Tg® bifRw! <&l &7 (3 2
(e) Differentiate between firm’s demand and industry demand for inputs.
TeAMCR TP (GG IR Bifwt @ fice wifgwia shiefe
(f) Give two examples of externality in consumption.
(S CF0q Ao 7o Snizze wie |

(g) How in a perfectly competitive market Value Marginal Product of Labour
(VMPL) and Marginal Revenue Product of Labour (MRPL) are related?

A efsife ATIE AGR 2AfeF TesimeTa To (VMPL) @R #7 2ifes =i
TeoMeTd (MRPL) @3 SC& o510 e 9

(h) In a two-person, two commodity economy, define the contract curve for
consumption.

72 &, 72 T3y 377/ SLTI0s (SIR (F0T contract Gl FICF 0T 9

2. Answer any four questions from the following: 5%4 =20

fsEe @-@iet 51Ff6 2tia Teq wies

(a) Explain the monopolistic and monopsonistic exploitation of labour.

TR GFCH O] FIRAG TS (<110l 8 Tqo (A5 eIFel-a= Li=eN 7ib i T |
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Show that the elasticity of supply of an input governs the level of rent.
e I THAMICTR QIslicTd FEfeg=mela $v@ Aemia »/feed fea s
Explain Prisoner’s dilemma.

A R e T e

Differentiate between rent and quasi-rent.

el 6 SI- el e AL Tl |

Explain the concept of excess capacity of a firm under monopolistic
competition.

GO ASRIISIETF AR T Tge Foid ARelB 41 T |

Answer any two questions from the following:
fasfeie @-ce 7 et Teq wies

Critically examine the ‘Product exhaustion’ theorem.
T IR Oglh FANCABCRA ROl (TS 215 el |

Explain the role of trade union to increase employment and / or wage rate in an
imperfectly competitive market.

35 Svp-aferaifor A i ke Feim e g / w121l Tgae 29 Ireice
AN, S SN FCE |

Consider a duopoly market, where each firm operates zero cost. The demand
function of the product is X = 120 — P.

(i)  Find the price and output of each firm under Cournot’s frame work.

(i) Find the level of price output if the two firms are involved in tacit
collusion.

@ AF, @0 TR IASIE TAVE X1 AGIE T HIRw S 28-

X =120-P.

(i) FCIR NCCCE TR SRE) Wi @ T 2Ifistiel 6 203 9

(i) T wrf g6 STPpHiie @RIPE’ SEPIE 531 O@ AGIE SRPI) Wi 8
TR IRl [ 207 9

Explain the price and output determination in a model with a dominant firm and
a competitive fringe.

a3 T A 2T T 8 PR APRAFIA TG TAWE (B! AP Foid 7w @
Tesive i Prals (ew 2@ AT, ©f [ F!

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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